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SOCIAL WORK
Paper II

HUTSTRTE
goatent 11

Time Allowed : 75 Minutes] [Maximum Marks : 100
Note : This Paper contains Fifty (50) multiple choice questions. Each question
carries Two (2) marks. Attempt All questions.

A ¢ A FIAULEh THYT UATH (50) g0l U9 STled. Fodsh WA & (2) T[0T 3Tea.

LN ~
qd =T ST e

1. Social Action is a ....cccccccvuueennnnne 1. 9EifSeR ol & q&d
method. 3R,
(A) Primary N IRIEED
(B) Secondary (B) g&W
(C) Additional (C) T+
(D) Tertiary (D) T
2. The oriental philosophy means : 2. dilﬁ@dcd i R IR A
(A) Ancient (A) 9=
(B) Eastern (B) data
(C) Western (C) TIf*=Hred
(D) Modern (D) enYfTeh

3. Which of the following is the core | 3  gorEld wEiets o 0%

skill required in social work

LY [a) ~
IR 3TE¥ehdl 3THd 7

(A) FETEE e

practice ?

(A) Resource mobilisation

(B) Communication (B) wam9T
(C) Co-ordination (C) 993
(D) Planning (D) e

3 [P.T.O.



According to whom social work deals
with economic well-being and
sources of happiness for people ?
(A) H.H. Stroop
(B) G. Konopka
(C) Friedlender
(D) B.E. Younball
Assertion (A) :The role of
professional social
worker is
empowering and
capacity building
of the oppressed
and the
marginalized
sections of society.
Reason (R) : Professional social
workers  have
requisite skill and
sensitivity to deal
with the problems
of such sections of
the society
Choose the correct answer from the
codes given below :
Codes :
(A) Both (A) and (R) are correct and
(R) is the correct explanation
of (A)
(B) Both (A) and (R) are not correct
(C) (A) is correct but (R) is wrong
(D) (A) is not correct but (R) is
correct
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FHIUTAT A FHATIHRTE § AIHR1ES

afefer TRt 9 STHE™ EId ISl hrd

w2

(A) TATE. T

(B) Sft. hiAr=h

(C) firedi=

(D) sitE. T
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(o < N [a)
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I F HAGAYed
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Tt feded gohaisgd A I
et .
Hehdiah :
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(B) (A) @ (R) <IeIEl <[ e
(C) (A) % I TR, 90 (R) & =
e
(D) (A) & 9% M€, 901 (R) & K
e




The Constitution of India provides
the fundamental right :

(A) Right to property
(B) Right to equality
(C) Right to leisure
(D) Right to welfare

Assertion (A) : Resurgence of civil
society believes in
resurgence of
autonomy of
communities and
collectives of
people

Reason (R) : They don’t believe

in empowerment
of political leaders
and parties.

Choose the correct answer from the
codes given below :

Codes :
(A) Both (A) and (R) are true and

(R) is the correct explanation

of (A)
(B) Both (A) and (R) are true but

(R) 1is not the correct

explanation of (A)
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

MAY - 20216/I1—A
I HfaMre Jayd AeeR
(A) Hufen R
(B) THMd=ET SRR
(C) SHMET SRR

(D) A=l AfYHRR

faam A) ;@ TR TES gAEA™
FHEE AT AR

TeEe Ier favemy gaq.

&RUT (R) : USifRd dAcgca afu

NEEID] RN
TecehIuIeR fovarg oad
el

(a o

Trelt fodean gahdiswa A I

Haer

H@H‘I%B :

(A) (A) T (R) Tl SReX 3Aed AT
(R) ¥ (A) ¥ 3T TILHI 3T

(aV hn¥

(B) (A) 9 (R) T s 3Ted 0

(R) T (A) ¥ 3Teh TIRIHRI RN

(C) (A) T ®ReR 38 99 (R) & =&
3

(D) (A) & I M8 I (R) & TN
Sl
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‘Swadhar scheme’ is concerned

with :
(A) Women Prisoners

(B) Women survivors of natural

disaster
(C) Physically challenged women
(D) Women victims of terrorism

The following are pre-requisite in
order to register a social welfare

organisation :

(@) Good intensions and social

consciousness
(b) A Memorandum of Association
(¢) A group of individuals

(d) Aims and objectives of

Association

Choose the correct answer from the

following codes :
Codes :

(A) (a), (b) and (c)
(B) (®), (c) and (d)
(C) (a), (b) and (d)

(D) (a), (c) and (d)

MAY - 20216/II—A
‘TR IS ATATEN Hetid STE
(A) wfgen gt

(B) ~Hfifeh STURIqd ar=raciedn Hfgen
(C) =97 Hfeel
(D) TahaRHe &faus Afgan

-
[

SEYE Hiar ¥

FHTSIH AT FEATAT T

S 1 e il P

(@) =TET T ST WIS ST

(A) (a), (b) T (c)
(B) (b), (c) 9 (d)
(C) (a), (b) d (d)

D) (a), () T (d)




10. The demographic transition refers

11.

O e .

(A) An increase in the birth rate
(B) An increase in the death rate
(C) Vertical growth in population

(D) A change in the ratio of birth
to death

Assertion (A) : Homelessness is
steadily growing
as a phenomenon

in India.

Reason (R) Housing is
becoming unaffor-
dable the

common person.

for

Select the correct answer from the

codes given below :
Codes :

(A) Both (A) and (R) are true and

(R) is the correct explanation
of (A)

(B) Both (A) and (R) are true but
(R) 1is the

explanation of (A)

not correct

©)
(D)

(A) is true but (R) is false
(A) is false but (R) is true
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10. TREEIAA ded RS

11.

(A) SIS 916
(B) HoIeIe 1@
(C) HEH 98

(D) S 3T GeIeUriet UM FHTud e
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faam™ (A) ¢ YA dER AT
e T fo TR,

HRUT (R) : HAHYNU Heell =R
TSl R0 9 ISR
TS,
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12.

13.

Farmers suicides are generally
attributed to :

(@) Change from food to cash crops
(b) New economic policy

(¢) Depression among farmers

(d) Industrial policy

Select the correct answer from the
codes given below :

Codes :

(A) (a) and (b) are true

(B) (a), (b) and (c) are true
(C) (b) and (c) are true

(D) (a), (b) and (d) are true

Current debates around the land
acquisition bill revolve around the
following clauses :

(@) Consent clause

(b) Social impact assessment clause
(c) Special economic zones

(d) Compensation clause

Select the correct answer from the
codes given below :

Codes :

(A) (a), (b), (c) are true
(B) (a), (b), (d) are true
(C) (b) and (c) are true
(D) (a) and (b) are true

12.

13.
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TTed AT Hes TawHT  ATTHEAN
ST

(@) ST IURATIYA SR
fyeriHed sqet

(b) e 3R o

() Vdr-aHET IS

(d) STEnfies &R

arell foeiedn Hehamhlqd e Sare]
fee =u .

Hehdieh :

(A) (a) 0T (b) SR TR

(B) (a), (b) MU (c) S &
(C) (b) =M (c) ST SR

D) (a), (b) M (d) SRS AT
Ao i SRRy fatsrast

N o

FHIVET e ARfaaR arded 2
(@)

(b) WHEIS® GHE AR

(c) T smfde &=
CANSERIRRICIE

arell foeiedn Hehamhlqd e Sare]
[EEERCTUNE

Hehdiah :

(A) (a), (b), (¢) § s 3T
(B) (a), (b), (d) & TR 3T
(C) (b) 3T (c) & R T8
(D) (a) 3T (b) & SR TR




14.

15.

16.

The theory of moral development

among children was proposed by :
(A) Skinner

(B) Kohlberg

(C) Piaget

(D) Bandura

The proponent of ‘Need for

Achievement Theory’ is :
(A) McClelland

(B) Maslow

(C) Herzberg

(D) McGregor

Which of the following is not a
role of a caseworker in a school

setting ?

(A) Assessing reasons for children’s

scholastic difficulties

(B) Counselling parents

(C) Working with teachers to

enhance students well-being

(D) Assisting children through

academic inputs

14.

15.

16.
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ARl Afder faermamera fagm

I qTERd hell ?

(A) TR
(B) hIeTeret
(C) Tt

(D) A

Qe f9gr= SHe sl Bid ?
(A) HeRiete

(B) HI&el

(C) wfert

(D) HeRIMR

TMeid &Idlel oFeil ered hidehdrdl

WeAeTdeh! RIvt fer A& TR ?

(A) qaAT=a1 vMRSHafera Iusar=Et
SHIOTHTHTET

(B) Yo TERYE HT0

(C) TRrerenTeRleR Herr= fashre ggrame
HE H

(D) Tr&omgR AT FEd L)
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17.

18.

19.

20.

Who
therapy ?

(A) Carl Rogers
(B) Anna Freud
(C) Paul Goodman
(D) Addler

proposed client-centred

Problem-solving model is related
to :

(A) Gladstein

(B) Perlman

(C) Mary Richmond
(D) Garret

Which of the following is a type of
classified diagnosis by Helen
Perlman ?

(A) Current diagnosis
(B) Medical diagnosis

(C) Clinical diagnosis

(D) Therapeutic diagnosis
Empathy means :

(A)
(B)
©)

Moods of the person
Feeling with another person

Development of an emotional
perspective of the problem

(D)

Need to understand the person’s
problem

17.

18.

19.

20.
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SR TEa STARTSAT HIvT JT&hd
et ?

(A) Fa W

(B) 3 WS

(C) Ul TeHA

(D) e

TR IR0 UEd ¥ ARl et
AR

(A) Terefed

(B) TeiHd

(C) T R=me

(D) Me

EATeTUeh! ShIUAT Tgd ol i TaiH—T=1

i M U= YR 3T ?

(C) TTufases fem

(D) 3TERIHS g

AUl BN
(A) =Feir= A ]
(B) THAT eKilfaoRi= Arem

(C) THRSETAT HEh goeieh U]
C Il

(D) <K=l THE SUE Sl TS
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21.

22.

Who is closely associated with the

study of ‘Group Dynamics’ ?
(A) Ruth Smalley

(B) Grace Coyle

(C) Kurt Lewin

(D) Bales

Assertion (A) :The practice of
social group work
is important for

social action.

Reason (R) : Social Action is
essentially a group

work activity.

Select the correct answer from the

codes given below :
Codes :

(A) Both (A) and (R) are true and

(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true but
(R) the

explanation of (A)

is not correct

(C) (R) is true but (A) is not true

(D) (A) is true but (R) is not true

21.

22.

MAY - 20216/II—A

T TaeieAd=aT ST EEE i Tl deh!
HI T Geted A 2

(A) &Y Al
(B) U9 hFA
(C) = wE
(D) “e®
faam A) :

JECARIE] TR TSI

FdTEre! Heweul el

ROT (R) : 9IRS Sl & STEIH

I T HETAIA SUHH

TTe.
T Fehdlhldial Arg g fere
U
Hehdich :
(A) (A) T (R) =1 s ed 00
(R) T (A) 3 T TRH 3R

-~

(B) (A) 9 (R) Tt sIsR 7ed 97T (R)

T (A) T TH TISHRIU AR

(C) (R) ¥ SRR 3T W01 (A) § I
3T

(D) (A) & I M@ 9 (R) § Ih
Sl
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23.

24.

The following are included in basic

skills of social group work :
(a) Skill in purposeful relationship

(b) Skill in

programme

development
(¢) Skill in communication
(d) Skill in leadership

Choose the correct answer from the

codes given below :
Codes :

(A) (a), (c) and (@)
(B) (), (¢) and (d)
(C) (a) and (b)

D) (a), (b) and (c)

Which one of the following is not a

part of group processes ?
(A) Sub-group

(B) Group diagnosis

(C) Group meeting

(D) Isolation of a member in the

group

23.

24.

MAY - 20216/II—A

EATeTUeh! el ShIvedT= e haT=l

TAYd HIRTA FHER B

(@) SEeyU Haumsfad SRy

(b) wHEHH fommmEEfaa ey

(c) WIS IR

(d) g HRTE

Tl fooied Sehdihdia Ara 99
farer .

Hehdiah :

(A) (a), () T (d)

(B) (6), (c) T (d)
(C) (a) T (b)

(D) (a), (®) F (c)

EcATeIdeh! IO T1E Gfsha=n W et

e ?

(A) TR
(B) TR
(C) Teseh

(D) TEd FEEmEl foerTan
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25.

26.

27.

Which of the following is a reference

group ?
(A) Occupational group

(B) Group taken to evaluate one’s

own aspect of life
(C) A relatively larger group

(D) A group which allows for social
mobility

Characteristics change tactics and

techniques in social action is :
(A) Consensus

(B) Consensus or conflict

(C) Conflict or contest

(D) Group discussion

Building consensus is one of the
characteristic method of the following

community organisation model :
(A) Locality Development Model
(B) Social Planning Model

(C) Social Action Model

(D) Social Participation Model

25.

26.

27.

MAY - 20216/II—A

TTefiedeh! v Hed e ey ?

(A) =FEEgS: T

(B) A=A SaA(auad HeAhTHme!
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28.

29.

30.

The principle of inter-group
approach in community organisation
has its roots in understanding of :

(A) Communities within comm-
unities and overlapping and
inter-penetrating communities

(B) Secterian groups within
communities
(C) Caste and class groups in the

communities

(D) Individuals and groups within

communities

Who wrote the book “Community
Organisation for Social Welfare” ?

(A) McNeil C.F.
(B) Kuenstler Peter
(C) Khinduka S.K.
(D) Ross M.G.

Social system approach
community organisation practice
examines the :

(A) Local social functions
performed by members of
community

in

(B) Prevailing discriminative
practices among the members of

community

(C)

Human Resources available in
the community

(D)

Division of Indian Society in
different Varnas

28.

29.

30.

MAY - 20216/II—A
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31.

32.

33.

Social work research primarily

focuses on :

(A) Social work intervention
(B) Social welfare programme
(C) Social welfare policies

(D) Social work administration

Which one of the following is not a

probability sampling ?
(A) Systematic sampling
(B) Stratified sampling
(C) Cluster sampling
(D) Quota sampling

A researcher who has already some
knowledge about a phenomenon but
he/she wishes to know more about,

adopts :

(A) Exploratory research design
(B) Descriptive research design

(C) Explanatory research design

(D) Experimental research design

31.

32.

33.

MAY - 20216/II—A
[T T HINE gEAd: ¥ R Sd
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34.

35.

Match the following for their
association and choose the correct
answer from the codes given below :
List I
(1) Karl Pearson
(z1) Student
(z11) Wilcoxon
(lv) Man-Whitney
List II
(1) T-test
(2) U-test
(3) Chi-square
(4) Sign ranked test
Codes :
@ @)
A 3 @
B) 2 @
©C @ 3 @ @
D @2 & 1 @

Consider the following statements

(i) (v)
“4) (@)
4 3

and select your answer according to

the codes given below :

Assertion (A) :In
research, resear-
chers prefer to have
hypothesis.

quantitative

Reason (R) : Quantitative rese-
arch is primarily
based on deductive
paradigm

Codes :

(A) Both (A) and (R) are true
(B) Both (A) and (R) are not true
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

34.

35.

MAY - 20216/II—A

Trell foddedr g9 At 9
HaLreal ER ek Sedl Aren S
Trell feedea Hehdiehlqd I 3ok

aer .

RICU |
(@) e sy
(i) Toaemest
(U RENEIEEIE
(jv) HA-feget

aqrar 11

(1) &
2) F-&
(3) HIE-TIN
4) WA g W
Hehdich :

@)
A) (3)
(B) 2)
© @ B @ @
D 2 @3 1) @
Trelie faum snfor R foar e
et feded ahdisha AT 3R
aer
faam (A) :

(i)
(1)
(1)

(i)
4)
(4)

@)
(2)
3)

TEATHS GYNEATaER
Y STRIITH A
b1 o B o

HTITcHs TINET ©
Terd: frifaa S
YEqeR SR 3R

R0l (R) :

Hehdich :

(A) T (A) 9 (R) SR 3TRd

(B) 31 (A) d (R) Tehid WA

(C) (A) & seR 38 T (R) Tehid
3T

(D) (A) g Fehia 38 907 (R) § IR
3T
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36. The Sexual Harassment of Women ~ S
" Workplace (Prevention 36. hTHTAT T3hIU[l HlgdTdH [Teh b
a
’ Hfqerdr, sieT 3T FARIRT0T) ShIEreT ShIuen
Prohibition and Redressal) Act was ;-sﬁ R , ) “
passed in : 5 ’
(A) 2014 (A) 2014
(B) 2013 (B) 2013
(C) 2012 (C) 2012
(D) 2011 (D) 2011
37. Assertion (A) :Affirmative action 37. faam™ (A) : BHEUEHS % f 2
is a ositive
L ? TENHF 9T 3R
discrimination.
Reason (R) : It protects the HAOT (R) :  FowIda faferse i
interests of a e feq wfaa .
particular margi- R D
nalized section of gl Iqeiedl Hch('llchlq\"l 'Eﬁ'r&[ I
the society. IREEINE
Choose the correct answer from the Hehdieh :
codes given below :
(A) (A) g (R) Sl SRIeR 3Tgd o1
Codes :
(R) § (A) T 3Tk TIRI 38
(A) Both (A) and (R) are true and
(R) is the correct explanation (B) (A) g (R) Tl SR ATgd Ul
of (A) (R) T (A) & 3T TIRIHIU RN
(B) Both (A) and (R) are true but
C) (A) § TR T (R
(R) 1is not the correct © @ @ e ®) @ kS
explanation of (A) e
(C) (A) is true but (R) is false D) (A) 8§ & @ 907 (R) & TN
(D) (A) is false but (R) is true 3
17 [P.T.O.



38.

39.

40.

The role of social women in school

setting 1S ...ooovvvvvvvvinennnnes .
(@)
®)
(c)
(d)

Preventive
Rehabilitative
Enabler
Mediator

Choose the correct answer from the

codes given below :
Codes :

(A) (a), (B), (), (d)
(B) (a), (b)

(C) (@), (b), (c)

D) (b)), ()

The Prevention of Corruption Act
was passed in the year :

(A) 1998
(B) 1988
(C) 1978
(D) 1987
‘Passive euthanasia’ is .............. .

(A) The withdrawal of life support

to patients
(B) Allow to take lethal injection
(C) The withdrawal of food
(D) Allow to suicide

38.

39.

40.

MAY - 20216/II—A
JMA &5d TSR b= yfHehT

FIVRT TWEA ST 7
(@) FideERER

(b) qIIEAHR

c) I

(d) A=Y

o o

@l fodied gehdieiqd I I

IEEEINE

Hehdich :

A) (a), (), (c), (d)
B) (a), (b)

(C) (@), (b), (c)

D) b), (c)

YSITIR fdsieieh hTIgT shIoTedl J5 qrid
e ?
(A) 1998

(B) 1988
(C) 1978
(D) 1987
‘Tftra s’ 'S

(A) SO e HWered Tl whigd
Ll

(B) WIUTETGe SIS GE EHUA™ WA
<0

(C) 3 TU &g IO
(D) A AT QU0

18
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41. Feminism focuses on : 41. ToEmEmn q};\rqg‘\ 7 o
(A) Recognition of female .
g (A) Hfger=a B ISR IR
domination
. (B) Tomm=m s Towem
(B) Subordination of women’s
labour (C) wfgar=n fash=n wwR
(C) Acceptance of women’s role .
(D) geo=a Yffehar wienr
(D) Acceptance of role of male
42. SR HEEAYT TOHIAT & :
42. Disaster management strategies
should be : INIINIERIRED
(A) Reactive (B) QaTgHTd-ghell
(B) Proactive
(C) T cH
(C) Counteractive
IR ENEAR:ED
(D) Demonstrative
43. ‘Apartheid’ refers to ..........cccccuunennn... . 5 orSt R E.
discrimination. (A) TR
(A) Social
(B) TS
(B) Political
(C) ot
(C) Racial
(D) Economic (D) e
19 [P.T.O.



44. Assertion (A) :The

inclusive
growth approach
takes a long-term

perspective.

Reason (R) : The focus is on
productive
employment as a
means to raise the
standard of living of
the poor and
excluded groups
through increasing

their income.

Choose the correct answer from the

codes given below :
Codes :

(A) Both (A) and (R) are true and

(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true but

(R) 1is not the correct

explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

44. fagam= (A) :

MAY - 20216/I1—A
gagaave gfgant

STef RTAT

TRl

CCIEIE]

®RUT (R) : IET H5lag IARH

TSR 3TEH, = T

O STHATAT: R

SCHIAd dle A

TR 1 aTefal
B,

o N

feoledn Fahdreiqd amd IR

[aV
el

b4
|3|5|€l :
. .
.
:

(A) (A) 9 (R) Srgl sleR 2T_d 3T

(R) T (A) ¥ T IR 3T

-~

(B) (A) 9 (R) T SRR Ted Ul
(R) T (A) ¥ 3T TIRIHII A

(C) (A) & S 3R 79 (R) € IH
Sl

D) (A) 8 g M8 T (R) B SN
Sl
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45.

46.

47.

Child helpline no. is ......ccccceerennnnne .
(A) 1084
(B) 1098
(C) 1007
(D) 2001

is associated with

National Alliance of Peoples
Movement (NAPM).

(A) Anna Hazare
(B) Arvind Kejriwal
(C) Medha Patkar
(D) Rajendra Singh

..........................

is development that
meets the needs of the present
generation without compromising
the ability of the future generations

to meet their own needs.

(A) Social Development

(B) Sustainable Development
(C) Inclusive Development

(D) Economic Development

45.

46.

47.

MAY - 20216/II—A

ATARTH HSd HIU BoTae 7. § 3T8 ¢
(A) 1084
(B) 1098

(C) 1007

(D) 2001

I STATE % TUey Hegh=ei

(B) 3Wfag el
(C) T Yt

(D) TS &

U 311 faenr S vfosardia

U= amaRl desiie 9 hidl odHM
U= e YrEdl.

(A) IS faehr

(B) IM@d faemd

(C) gHES foehrg

(D) emfefer faema

21
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48.

49.

Right to Information Act came into

existence in the year :

(A) 2004

(B) 2005

(C) 2006

(D) 2007

Assertion (A) :The core domain of
CSR goals are triple
bottom line is

people, planet and
profit.

Reason (R) : It is the commit-
ment of business to
contribute to sus-
tainable develop-

ment.

Choose the correct answer from the

codes given below :
Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true but
(R) 1is the

explanation of (A)

not correct

©)
(D)

(A) is true but (R) is false
(A) is false but (R) is true

49.

MAY - 20216/II—A

R SRR ST —

AT 3Tl

(A) 2004

(B) 2005

(C) 2006

(D) 2007

fagm (A) : f8.TE.3m. (CSR) =
e Y H-d@ e
S —dlh, T8 S
TR B

HRUT (R) : el YR foehrEr=an

N L
qilqlHld  sellili=| sTx-

T 28 WU,

Trell feded Hehdlsiqa T ST

feret -

Hehdieh :

(A) (A) 9 (R) TI=I SR ed (01
(R) T (A) ¥ T IR 3T

fay

(B) (A) 9 (R) Tl
(R) T (A) 3 T TILIHI TG

gUe 3Ted  gul

(C) (A) ® e} 3M8 90 (R) & I
CIE

D) (A) & I 3 T (R) & TN
Sl

22



50. Assertion (A) :India is unlikely to

achieve all the
Millennium
Development Goals
(MDGs) set to
improve its various

social indicators.

Reason (R) : Indian political
system and social
policy framework is

a major hurdle.

Choose the correct answer from the

codes given below :
Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true but

(R) is not the correct

explanation of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

50. faam (A) :

MAY - 20216/II—A

fafay gmfser femend

(ol

G TRHEd ETUDILEIG)

IR, Tedh fash™ &9

Shelfad U s IhRURT

el

HRUT (R) : NG TSThid SHeEe
airfor wrATfSIsR &N
G § TE IeUS
3TTed.

@l foded ghdreqd AT ST

Teret -

Hehdich :

(A) (A) 9 (R) Tt =R 3ed 1o

(R) T (A) ¥ T IR 3T

B) (A) 9 (R) T8l seR Rd T
(R) T (A) ¥ 3T TIRIHII A

(C) (A) ¥ ssR 318 90 (R) & I
EIE

D) (A) 8§ I A 907 (R) & TN
3
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